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M HO MATAl B4

ol NSEEMY | (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 4,798,731 7,886,663 A3,087,932
= 40,000
Al 4,798,731
S MHAZA 4 3,956,984 7,118,554 A3,161,570
ASHEME 54 3,672,000 3,891,800 219,800
SaJ1g A 137,000 144,800 AT7,800
201 =3 3,800 3,800 0
01 At22t2l] 3,800 3,800 0
OEYXAl HEJILX ARG EA=E
100,000& »7 =22 1,400
OR+==2JIg L 200,000 * 122 2,400
203 gR=8| 2,200 0 2,200
03 A= PR FA| 2,200 0 2,200
OAIHFNH =AY 2,200,000 2,200
307 21201 & 110,000 120,000 10,000
02 LB AANHEE 90,000 100,000 10,000
OXISAXIA T HE K (FHEAFRIH)
30,000,000 *1IH A 30,000
OJIPEE XA & HZXJAME X2
50,000,000 * 100 2 50,000
OZM=Eg EFAO0IL XA
10,000,000 * 10 2 10,000
04 QIZIHAIAIH E X 20,000 20,000 0
O©J1gel stet A X1
20,000,000& *13] 20,000
308 AHXIEMSOIH 10,000 10,000
11 SIS0t A AS A 10,000 10,000
OSAIY +EEEE K (B2RALEE
AH) 10,000,000 * 19K 2= 10,000
402 2I2F X201 & 11,000 11,000
01 BIENG S A S E X (XM THR) 11,000 11,000
OQIIH AL (+74) =8 N
5,500,000 x2JH 2= 11,000
4t sh et X3 695,000 865,000 A170,000
306 £= 200,000 500,000 A.300,000
01 9= 200,000 500,000 300,000
Osgaetge s X (¥a3)
200,000,000& x13] 200,000
307 gl2to| & 460,000 330,000 130,000
02 QIZtEHAEE X 460,000 330,000 130,000
OSAJIGXNEHH K&
100,000,000& *13] 100,000
OFHEFHE X 10,000,000 * 12l 10,000
OXFLALEH AHL LA X3 (SIH
) 60,000,000& *13] 60,000
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) 280,000,000& *13] 280,000
O SEE 3sM 2ERAAH (21
) 10,000,000& *13] 10,000
308 AXIHMSO0IA 35,000 35,000
11 SI2S0 e YA AS A 35,000 35,000
OFZAHY T2t JI=HE A (SIHAE
X&) 35,000,000& *13] 35,000
ANESYE 25 XA 200,000 200,000
308 AXIMSOIA 200,000 200,000
1 SIS0t HAS A 200,000 200,000
OBAJNY ADESHE 2588 XIFAH(
=2HEXR) 20,000,000 * 1090 £ 200,000
Ol Mo M5 5 W2 X SHS 25 A 2,620,000 2,670,000 50,000
&(ESETP)
306 EH= 2,620,000 2,670,000 /50,000
01 &= 2,620,000 2,670,000 250,000
Ol Mot 2MF SHE HdH 2= A
2 (SHHEXE)
2,620,000,000& 17 2 2,620,000
CEASTAAY 20,000 20,000
207 ARl 20,000 20,000
01 A1E4H| 20,000 20,000
OLtE &5 d+849 20,000,000& * 14 20,000
JIFEAl D18k OFA 170,000 695,000 /525,000
AHEX e RO 110,000 650,000 540,000
401 AIZHIX S THE 110,000 650,000 540,000
01 A28l 110,000 650,000 540,000
OB&R2 AHEX| =Xl 23 At
20,000,000 * 14! 20,000
O 42 MHEI] s3] At
10,000, 000& »23] 20,000
OB MHEX L AIEE RAEF=SA
20,000,000 *14] 20,000
OJt=cl Sti+==Z A
50,000,000 *14! 50,000
s2el0ts ¢Al =4 60,000 45,000 15,000
401 Al HIZL 01| 60,000 45,000 15,000
01 Al&H| 60,000 45,000 15,000
O=gQI0ls FX& &4 & OtA2IN L
IIBAREZ) 50,000,000& »14] 50,000
O=2olll= 2B ISAIY
5,000,000& 22 10,000
JIGFX lZet AF(s3XRZLL 2L/ ARG ESS) 114,984 146,300 A31,316
S (s3)eXl 2el 114,468 77,984 36,484
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OXAEA 2 JH| I 22|
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01 AtR2t2|HI 54,000 22,400 31,600
o4t 23 =28 7Y
1,000,000& «12& 12,000
O3l S=2HAF M
15,0002 %2,400& 36,000
OatH X R21FH| E9Y
6,000,000& *12] 6,000
02 S3=gHl 10,000 11,000 A1,000
OLEHA S32= 2,500,000 *43] 10,000
206 M=H| 10,000 5,000 5,000
01 MHZH| 10,000 5,000 5,000
oA SatzEs Y
10,000& 1,000kg 10,000
307 elztol & 20,000 20,000
02 2IZHBYAIHE & 20,000 20,000
OgdAIAHRIE 2 243t A&
20,000,000 * 191 £ 20,000
oligisl 516 68,316 67,800
801 GBI 516 68,316 A\67,800
01 Letoldlbl 516 68,316 267,800
©G{l:] 516,000 12 516
s =3 % oty 783,331 768,109 16,222
= 40,000
Al 743,331
LS4 SASsd 783,331 768,109 15,222
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Al 743,331
=S3EH =4 71,760 124,540 A52,780
201 2= 41,760 49,540 AT,780
01 AtR2t2lt] 41,760 49,540 AT,780
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©1g OtIEZHIA IEXHA
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